Best model for HELP J141750.504+522624.658 at z = 1.606 x?>=3.83
OPTx?=4.6 IRx?=1.11 threshold (OPT IR)=20.85 [um]

Flux [m])y]

1

=

Relative residual flux,.

102 3 Stellar attenuated
i e e Stellar unattenuated
1 ] [ —— Dust emission
10 —— AGN emission
= Model spectrum
100 i ® Model fluxes
— [ oObserved fluxes
WV Observed upper limits
01 5
E I S S PR,
] ~ N\
072 4 ‘
073 4
04 -
05 4
1
1 mfe= (Obs-Mod)/Obs
0 - — e ——————————————————
—1 A WD L K S
10° 10! 102 103 104

Observed wavelength [um]



